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Slopes of Parallel and Perpendicular Lines
3-8

Reteaching
Remember that parallel lines are lines that are in the same plane that do not intersect, and perpendicular lines intersect at right angles.
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Write an equation for the line that contains G(4, (3) and is parallel to [image: image3.emf]: 
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. Write another equation for the line that contains G and is perpendicular to [image: image5.emf]. Graph the three lines.

Step 1 Rewrite in slope-intercept form: 
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Step 2 Use point-slope form to write an equation for each line.
Parallel line: 
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Perpendicular line: m = (4
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Exercises
In Exercises 1 and 2, are lines m1 and m2 parallel? Explain.
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2.

Find the slope of a line (a) parallel to and (b) perpendicular to each line.

3. y = 3x + 4
4. 
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5. y ( 3 = (4(x + 1) 
6. 4x ( 2y = 8

Write an equation for the line parallel to the given line that contains point C.
7. 
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; C((4, (3)
8. 
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; C(3, 1)

9. 
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10.  y = (2x ( 4; C(3, 3)
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Slopes of Parallel and Perpendicular Lines
3-8

Reteaching (continued)
Write an equation for the line perpendicular to the given line that contains P.
11. P(5, 3); y = 4x
12. P(2, 5); 3x + 4y = 1
13. P(2, 6); 2x ( y = 3
14. P(2, 0); 2x ( 3y 5= (9
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Given points J((1, 4), K(2, 3), L(5, 4), and M(0, (3), are [image: image16.emf] and [image: image17.emf] parallel, perpendicular, or neither?
    
       
   
      

Exercises
Tell whether [image: image18.emf] and [image: image19.emf] are parallel, perpendicular, or neither.
15. J(2, 0), K((1, 3), L(0, 4), M((1, 5)
16. J((4, (5), K(5, 1), L(6, 0), M(4, 3)
17. [image: image20.emf]: 6y + x = 7
18. [image: image21.emf] : 3x + 2y = 5
19. [image: image22.emf]: 2x ( y = 1
[image: image23.emf]: 16 = –5y ( x                         [image: image24.emf]: 4x + 5y = (22
[image: image25.emf]: x + 2y = (1
20. [image: image26.emf]: 
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21. [image: image28.emf]: 
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22. [image: image30.emf]: y = (1
       [image: image31.emf]: 
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                         [image: image33.emf]: 2x + 8y = 8                           [image: image34.emf]: x = 0
23. Right Triangle Verify that ∆ABC is a right triangle for 
      A(0, (4), B(3, (2), and C((1, 4). Graph the triangle 
      and explain your reasoning.
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Their slopes are not equal, so they are not parallel.





The product of their solpes is not –1, so they are not perpendicular.
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